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178 #FHeaRARER (2) —BXORKE - REERE -
Gl

[1] (1) (2)

2 -3z +7 22 —x =1
x—|—2) 3 —22 4 +14 x2+x—1)x4 —3z2 4z —1
3 + 222 at a2 — 22
327 +=x —23 — 227 +x
—32% — 62 3 224z
Tr + 14 —z2 —1
Te + 14 —2? —z +1
0 T —2
Lo, £oT,
a2 —3zx4+7 V0 Hmia2—xz—1, &Y ix—2
[2] (1) (2)
2 +4x +15 5 —7
x—4) a3 —x —45 x2+x—1) 5a° — 212 —1
3 — 422 5a% 4 5z2 — b
422 —x —Tx? +5x —1
422 — 16z —Tz? —Tx +7
152z — 45 122 — 8
152z — 60
15
LT,
roT B Se—T, &Y 122 -8
B a? +4r 415, &Y 115 L72Hio T,
) 523 — 222 — 1
L7225 T,

=(x24+x—1)bx—7)+ 122z — 8
B w45 ( )( )

= (z —4)(z? + 4z +15) + 15
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2241)ad —x+1
3+
-2z +1
Lo T,

Wox £ 2241

L7223-> T,

w3—x+1:(m2+1)az—2m+1

31 (1) f(z) % 2 —1 CTH-4D0 1,

f)y=1*-2-1>+3-1-1
=1-2+3-1
=1

(4] (1) f(2) Z 2+ 1 TH-24D 1,

f(=1)
=(-1P*+3-(-1)?+m-(-1)+5
=—14+3-m+5
=-m+7

COENVNRIIIE LN LR,

-m+7=3
—m = —4
m=4
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(2) f(z) & 22 -1 TEH-7240 13,

(2) f(z) & 2 +3 TH-724D0 1,
f(=3)
=2-(=3%—m-(-3)2+10-(-3)+2
=—-54—-9m—-30+2
=—9m — 82
CORNP —1LIZFHFEL N LD,
—-9m —-82=-1
—9m =81
m=—9



(3) f(x) % x+2 THlo72D 1T,

f(=2)

=3 (<22 —m- (<2)?
=-24—4m+4+1

= —4m — 19

COENVRLIIZE LW L,

—4m —-19=1
—4m = 20
m=—5

[5] (1) MBREDPS,

—-1]1 3 7 =2
-1 -2 =5
1 2 5| =7

LT,

a2+ 2245 £V

(3) MRS,

211 0 —6 1
2 4 —4
1 2 -2|-3

LT,

a4 22 —2, £V

(5) MRS,

3
22508

3 12 18
2 8 1210

roT, 222 +522-8 %, x—%“(“

o7zl LRI,

—2.(=2)+1

P22 +8x+12, 41 10

THbb, ROLEEREDIE

x4+ 4x+6, &V

- 10
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(4) f(x) % 20— 1 TEI-72HD 1,

_ 95 _ m
=3 2+ 5
_m 3
2 8
COHEVP2IZEL VT ERD,
m 3
2 _8_2
4m—3 =16
4dm =19
_ 19
4
HSZEREE D S
3]-1 8 -6 -5
-3 15 27
“1 5 9] 22
LT,
Fm:—x2+5x+9 )22
HSZEREE D S
1j1 00 0 0 -1
111 1 1
1T 1 1 1 1] 0
LT,

Fmiatt a2+ 22+ +1, &Y 0

AT BREN S,
L4 0 3 =3
92 1 -2
1 -2 4] -5

X oT, 42°4+32-3 7%, x—i—i’f‘

Elo7- L A0 1, ?
P da? -2 +4, B -5

THhoHHID, RODLEEAD I,
o2 —x+2 KRV -5



(6] (1 3 2
F(=3) = (=3 +m - (=37 +9-(~3) -9
=-274+9m —-27-9
=9m — 63

B fa) 1 da+3TEVYNENSG,
WECEE LD,
Im —63 =0
9m = 63
m="7

(2) 5 )
f3)=3+2m-3"—(m+5)-3—2

=274+18m —-3m —15—-2
= 15m + 10

B fr) T -3 TEWINL NG,
WECEE LD,

15m+10=0
15m = —10
2
m=—=
3

(3) 2
()2 (3) o () - o0
_ 81 9

= §+ZT;7+3TTL—6+3
B f(z) 1320 -3 TEHIVEON L 25, RHBUEE L,
21 57 _
Tm—i—? =0
21 57
4 8
__19
14

@ 52 (12
F(-1) = (—1)° —m? - (~1)® +2m - (~1) +4

=—1-m?—2m+4
=—-m?—2m+3

R f(z) o+ 1 TEVGRZ S, WEERLY,

—-m?—2m+3=0

m2+2m—-3=0

(m+3)(m—-1)=0
m=-—3, 1
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P(—1)= (=12 +(=1)*+a-(-1)+b
=—-1+1—-a+b
=—a+b

X P(z) ld o+ 1 TEY TR 05,
REBEH LD,

—a+b=0 @
F7-
P(=3)= (=324 (-3)*+a-(-3)+b
=-274+9—-3a+b
=-3a+b—-18

B Px)ldz+3THHEHY YN 2
5, WECER LY,

—3a+b—18=0 ---@

@-0»bH,
—2a—18=0
—2a =18
L a=-9
INEOIRALT,
—(-9)+b=0
94+b=0
ob=-9
Lo T,

a=-9, b=-9
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P(-1)= (=12 +a-(-1)?+(=1)+b
=—-1+a—-1+0
=a+b—2

iR P(z) X+ 1 TEIDENDE A,
WEEH LY,

a+b—2=0---@
F7,

P3)=3+a-3*+3+b
=27+9a+3+b
=9a+b+ 30

B P)dz-3THYYNL NG,
HEEH LD,
9a+b+30=0---@

@-QO»5,
8a+32=0
8a = —32
La=—4

NEOITRA LT,

(—4)+b—2=0
b—6=0
L b=6

LT,
a=—4,b=6
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[8] (1)

P(2)=2"-3-224+a-2+0
=8—12+2a+b
=2a+b—4

BAP@)dr-2THVOND S, WHEEHRLD,
20+b—4=0---Q
F 7,

P1)=1*-3-1*+a-1+b
=1-34+a+b
=a+b-2

Plz) 22— 1THoLZORINF -2THEH5, FROEHRLD,
a+b—2=-2-.-Q@

O-®@ &0V,

a—2=2
a=4

IhzOIZRALT,

8+0—-4=0
b+4=0 Sob=—4

LT,

a=4, b= —4

P(B)=a-5°4+b-5°+c-5+d
= 125a + 25b+ 5¢+ d

Px) % x -5 CHlo72L ZOFEVNF2THL00, FHEOTHLD,
125a+25b+5c+d=2 --- @
72,

P(-3)=a-(=3)*+b-(=3)*+c-(-3) +d
=—-27a+9b—3c+d

P(x) % 2 +3 CHoZLEDORVDITH L0, FAOERLY,
274 +9b—3c+d=9 ---@
$7:

P(-1)=a- (1) +b-(=1)*+c- (1) +d
=—-a+b—c+d

_1.(\

Pz) 2z +1THIo72L EDFVNPETHLDH, FHEOEILD,
—a+b—c+d=5---B

N
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72,

Pl)=a-1*+b-1>+c-1+d
=a+b+c+d

Pz) 2z —1THIo72L EDFENVNFITHLDH, FHFEOEILD,
at+b+tc+d=3---@
O~@®xn,

125 +25b+5c+d=2 ---@
—27a+9—3c+d=9 ---©@
—a+b—c+d=5 -
at+bt+c+d=3 @
@-® &b,
20+ 2¢ = —2
L e=—a—1 @
@+@ &y,
2b+2d =8
.'. d:4—b ...@

OILG®, @ERATL L,

125a + 250+ 5(—a— 1)+ (4 — b) = 2
120a + 24b =3
o 40a+8=1---@

@IG®, @AY HL,

—27a+9b—3(—a—1)+(4-0)=9
L —24a+8 =2 ---©®

@-® &b,
64a = —1
a1
) 64
_ 13
roT, @&y, b= o
__63
®LY, c= o4
243
@i@,d—%z
LT,
1 13 63 243
a=——,b=—,c=—-,d="——
64 64 64 64
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(9] (1) z=2—i &Y,
r=2—1
r—2=—1
(x —2)? = (=i)°
22 —dx+4=4¢>
22 —dr+4=-1
22 —4x4+5=0

LoT,
2 — 4z +5=0
(2) P(z) =a* — 823 + 2022 — 11z — 10 & B<.
P(z) % 22 —4x +5 TH 5 &,

2 —dx -1

x2—4x+5) 24 — 843 42022 — 11z — 10
ot — 423 + 52

—4a23 + 1522 — 11z
—4x3 + 1622 — 20z

—22 +9zx —10
—22 44z -5
5r —5

LT,

P(z) = (2* =4z +5)(2* —4x — 1)+ 52— 5
Il =2—-i &2 RATHL,
(1) DFER LD,

P2—i)=0+5-(2—i)—5
=10—5i—5
—5—5i

[10] (1) x:_l%@ Ly,

—14/3i
T 2
20 = —1+V3i
20 +1=1/3i

(22 +1)? = (V3i)?
4a? + 4z + 1 = 3i?
422 + dx+1= -3
4o® +4x+4=0
?+r+1=0
LT,
v —3r+4=(2*+2+1)—42+3
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L, Pla)y=@*+x+1)—4o+3 L7 5.
F T RV ST Y

2

P<7_1—;\/§i) —0-14. <7_1—;\/§i)+3
=2-2V3i+3
=5—2V3i

(2) Qz) =25 —22* + 223 + 22 + 62— 6 £ BK.
Qx) 2 22 +2+1TESL L,

23 — 322 +4x

x2+x+1)x5—2x4+2x3 +2%2 46z —6
x® +x4 +x3

—32* +a23 +2°
—3z* — 323 — 322

423 + 422 + 62
423 +42? 4+ 4z

20 — 6

Lo,

Q(z) = (* + o +1)(2® — 32% + 42) + 22 — 6

o T oA LTS

2

Q<7_1§‘/§i> =0+2-7_1J;\/§i —6
=-1+V3i—6
= -7+ V3i



[11] (1) P(z) =32® +az® — bz -3 £ B<.
Plx) B (x+3)(z—1) TEVONLZ DD, Plx) X (x+3)(x—1) 2RI

.

L722357C, Plx)ldo+3, 2 —1OWGTEHYTNL.
HEEHN S, P(=3) =052 P(1) =02 7.

Ihnky,

P(=3)
=3-(-3)%+a-(-3)*—b-(-3)-3
=—81+9a+3b—3
=9a + 3b — 84

»b,

— i,

9a+3b—84 =0
9a + 3b = 84
3a+b=28 ---@®

Pl)=3-1*+a-1>-b-1-3
=34+a—-b-3
=a—0

P@)=2*+az’ +z+b & B<.
Pa) 2?2 +22—-3=(z+3)(x—1) TEHONLZ L 25,
P(z) i (x4 3)(x— 1) ZHEIZ .
L723>TC, Plx)ldz+3, 2 —1DOWGTEHYEOINS.
WEGEHD S, P(=3)=072"2 P(1) =02 2D,

&y,

»oH,

P(-3)

=(=3)’+a-(=3)*+(=3) +b

9a+0b6—-30=0
9a+b=30 ---©

Pl)y=1*+a-1>+1+b
=1l+a+1+b
=a+b+2

"o,
a_b: ...@
O+@ &
4a = 28
a="17

INE@ITRA LT,

T—-b=0
Sob=7

LT,
a=7,b="7

o,

a+b+2=0
a+b=-2.-..Q

O-@4&Y

8a = 32
a=4

INE@OITRA LT,

A+b=-2
b=—6

L-oT,
a=4, b= —6



(3) P(z) =2 +323 +az? +bx +c L B,
P@) 2 (x4 1)(x—1)(z—2) TEHYYNDLZ L5,
P(x) X (x4 1)(z—1)(z —2) ZWHEIZ DD,
L723> T, Plx)ldoz+1,2—-1, -2 CTHHIUNS.
WEGEEN S, P(—1)=0%2 P(1) =022 P(2) =025 i,

ik, @-0 £,
P(-1) = (—1)' +3- (-1 o
+a-(-1)*+b-(-1)+c b=-3 ...
=1-3+a—-b+c
=a—btc—2 @FOIRAT S &,
5, a—(=3)4+c=2
a—b+c—2=0 a+c=—-1---@

a—btec=2--@
@I ATE L,

da+2-(=3)+c=—40
da+c=-34 .-

—7i,

P(1)=1"+3-1%+a-1*+b-1+c
=14+3+a+b+c

o, @ -0 &y,
1+3+a+b+c=0 30 = —33
a+bte=—4 @ a=—11--®
. ®% @ IZRALT,
P(2)=2"+3-29+a-2+b-2+c
= —1l14c=-1
=16+24+4a+2b+c
c=10 ---(®
o,
16424 +4a+2b+c=0 @ ® ©&Y,
4a+2b4+c=—40 ---B) 4= 11, b= —3, c—10



(4) P(z) =2 +ax® +br+c LB,

P@)ida2?—1=(@+1)(z—1) TEHTNEZ LhD5,

Plz)iE (x4 1)(z— 1) xFEZH .

L7225 T, Plx)ldae+1, 2 —1DOW G TEYYNL.
WEGEHE DS, P(—1) =052 P(1) =020 372

&y,

P(-1)
=(-1P+a-(-1)2+b-(=1)+c
=—1+4+a—-b+c
»bH,

—14+a—-b+c=0
a—b+c=1---@©
—7i,
Pl)=1+a-1*+b-1+c
=1l4+a+b+c
»bH,
l1+a+b+c=0
atb+c=-1---@
$7z,
P(=2)

=(—22%+a- (=22 +b-(-2)+c
=—8+4+4a—2b+c

Plz) %z +2THob 2040

3THLNE, FHEOEHRDND,
—8+4a—-2b+c=3
da —2b+c=11 ---®

@-0 &,
2b=-2
b=-1---(®

ODFOIAT A L,

a+(—1)4+c=-1
at+c=0---@

@E@IAT L L,

da—2-(-1)+c=11
da+c=9 -G

®% @ IZALT,

34+c¢c=0
c=-3...(®

@ ® ©&Y,

a=3,b=-1, c=-3



[12] (1)

2K TEID ERDIE L KRUTORZERS,
B fr) % (x—1)(x—2) THo72LZDWE g(z) &L, ®RDZar+bET
5L,

f@)=(z—1)(x—2)g(z) +ax+b

FIROEHRLY, f(1)=2, f(2) =32 L.

L7z23- T, @-0 &,
fy=1-1)1-2)g(1)+a-1+b
=0-(-1)-g(1)+a+bd a=1
=a+b
o, INEOIZRALT,
a+b=2-.-@©
1+b=2
—7i, b=1
fQ)=2-1)2-2)g92)+a-2+0b
=1-0-9(2)+2a+b Lo, fo) % (& —1)(z—2) TH-
=2a+b
T2 Z040 13,
ne,
20+b=3---Q x+1

2RATHL ERDIFLKUTORLED S,
B f(r) 22 —62+8=(z—2)(x—4) THoLZDW%E g(x) &L,
B Z ar+bETBE,

f(@)=(z—2)(x —4)g(z) +ax+b

RIROEHRLY, f(2)=3, f(4) =17 HHY L.

L7 T, »5,

f2)=(2-2)2-4)g(2)+a-2+b _
=0-(-2)-9(2)+2a+b foth =170
=2a+b @-0 &,

nbH

20 = 14

20+b=3 ---@ a="7T

—J _ o

F(4) = (4— 2)(4 — 4)g(4) +a- 44 b NEOITRA LT,
=2-0-g(4) +4a+0 14+b6=3
=4a+b b=—-11




(3) BN THEHZ LRV IZ2HKUTORLZND,
B fo) % (e—1)(z-2)(x—3) THo7ZLEZDME g(z) & L,
FDEar® +br+ckThE,

f(z) = (z — 1) (z —2)(z — 3)g(x) + az® + bz + ¢

FlROEHRLY, f(1)=2, f(2)=3, f(3) =672 LD,
L7255 C,

fM=1-1)1-2)1=3)g(1)+a-124+b-1+¢
=a+b+ec

"o,
a+b+c=2---@
—7i,

f2)=2-1)2-2)(2-3)92)+a-2°+b-2+¢
=4da+2b+c

NG
da+2b+c=3 ---©@
72,

f3)=3B-1)B-23-390B)+a-32+b-3+¢
=9+ 3b+c

5,
9a+3b+c=6 ---B
O~®4& Db,
a+bt+c=2 )
4da+2b+¢c=3 -
9a+3b+c=6 ---®

@-0 %Y, 3a+b=1--@O-@ LY, 5a+b=3 - OB -@ &V,

20 =2
La=1

@&D, b=-20 &Y, c=3%o7T, flx) (x—1)(z—2)(z—3) TH-7
EEDORD I,

w2—233—|—3



(4) 2RATEL EHEDIT1TRUTORZEDS,
B flr) 2?2 -32+2=(z—-1)(z—2) THo72L ZDW%Z g(x) £ L, V%
ar+b &35 &,
f(@)=(x—1)(x—2)g9(z) +ax+b - O

B f(r) & 2® —4x+3, 22— 52+ 6 THo L ZDOMEZNEN Q1(x), Qa(x)
LB,

flz) = (x2 — 4z +3)Q1(z) —xz+ 10
=(z—1)(z-3)Qi(z) —z+10 ---©@
f(x) (x2 =5z +6)Qa2(z) +2x+ 1
(

r—2)(r—3)Q2(z) +22+1 ---B®

O @lzz=1%2%AT5L,
fA)=a+b=9 @

O Blte=2L72L,
f2)=2a+b=5---®

®-® &b,
a=—4
IRE@IZRALT,
—4+b=9
Sob=13

£oT, fx) % 2?-32+2TE-LZDOHEDIT,
—4x + 13



188 #EHESXRAERX (3) —mKkAEL-
Gl

(1] (1) fla)=a3—-2224+2—-2,LBLL, fF2)=0705, f(z)do—2F2REIIHD.
HLAZBRE LD,

ﬂl -2 1 =2
2 0 2
1 0 1 0
LT,

flx)=a% —22° +2 -2
=(z —2)(z? +1)

f@)=0775, (@-2)(=2+1)=0
L7255 C,

r—2=0%F72F2°+1=0
?+1=0%M< L, v="i
W22,

T =2, +1i

(2) f() =223 -3224+1,BLE, f()=07D0, flr)ldae—1%2KREUILD.
RIVZEREE LD,
12 -3 0 1
2 -1 -1
2 -1 —1] 0

LT,
flx) =22 —32% +1
=(z—1)(22% —2 —1)
fl@) =075,

(x—1)(22° =2z —1)
(z-1)QR2zx+1)(z—-1)
(x —1)*(2z + 1)

0
0
0

L7223-> T,
r—1=0F77d2x+1=0

s . 1
Wz, =1, —E



(3) flx)=a* =323+ 322 =3z +2LBLL, fF()=07D5, flx)ldaz—-1%K

Bz o,
HZBRIE S,
1j1 -3 3 =3 2
1 -2 1 =2

1 -2 1 -2 0

£ oT,
f(z) =a* — 323 +32% — 3z + 2
=(x—1)(z* - 222 + - 2)

CCT, gla)=a®-222+z-2,BE, g2)=07D5, gr)idoz-2%RA

Buzb .

MR LD,
21

1

-2 1
2 0
0 1

|
oo o

LT,
g(z) = (x = 2)(z* + 1)

ThHbDT,
f(z) = 2" — 323 +32% — 3 + 2
=(z—1)(z—2)(a®+1)

flz) =075,
(x—1)(z—2)(2 +1)=0

L7235 C,
r—1=0F73z-2=0F71F22+1=0

22 +1=0%M< &,
T = =+i

W22, z=1, 2, £
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(4) fl@)=at—a3—b2? —x -6 LBLL, f3)=0710, f(z)ldoe—3 2R
[ 3e)
HIAZEREE LD,
3]1 -1 -5 -1 —6
3 6 3 6

1 2 1 2 0

£ o T,
flx)=at -2 —522 —2—6
=(x—=3)(2*+222 +2+2)

CCT, gla)=a3+222 +ax+2LBLE, g(-2)=0700, glx)idz+2%
I D,
MBI LD,

-2|1 2 1 2

Lo,
g(x) = (x +2) (z* +1)

THAHDT,
f(@) = (2 = 3)(x+2)(2" +1)

flx) =075,
(x—3)(x+2)(22 +1)=0

L7275 C,
r—3=0F7Fa+2=0F71F22+1=0

22+1=0%M< L, x=4i
Wz, =3, —2, +1i
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[2] 1) z=00k &,

(L) =0"4+4-0°4+5-024+4-0+1
=10
LHhBDT, o =0I3FETIE RV
ZITC, Willx 22 (5 0) THo TEM
T3,

ERDBMD,

(t* —2)+4t+5=0
t?4+4t+3=0

(2) (1) &b,
?+4t+3=0
t+1)(E+3)=0
t=-1, -3
t=-10k %,
x+i:—1
x
P 4+1l=—2
P +x+1=0 x:%\/&
t=-30k&,
x—f—i:—S
x
r?+1=-3z
2 +3r+1=0 x:%\/g
£o7T
_ —1++vB8i -3++5
2 ’ 2
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(3] 1 DEH IR w i,
Ww=1, W tw+1=0

AT
(1) W8 = 3%2 (2) WOl 4 8
= (W3)? W BXBOFL | Bx1242
— 12 W BXB0 3122
=1 :(w3)30 cw (w3)12 w2
=130 w+ 112 2
=w + w?
=w+w+1)-1
=0-1
=1
(3) 12 9 3x4 3x3 5 4 3 3/ 2
wotw +1=w"+w+1 w'tw +w =w(w +w+1)
= (W) + (W +1 =1-0
=1*+13+1 =
=1+1+1
=3
()

(w—5)(w+6) =w?+w—30
= (w? +w+1)—31
=0-31
=-31

6) W+w+1=0Mn5,
w2+1:—w, o.)—i-lz—u)?7 wHw?=-1
WY LD DT,

I-w+) ' +(1+w—-—w)=(—w-—w)'+ (—w? —w?)!
= (—2w)" + (—2u?)*
= 16w + 16w®
= 16w + 1607722
—16-w® w4+ 16 - w3*2 . w2
:16w3w+16(w3>2w2
=16-1-w+16-1?-w?
= 16w + 16w>
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